
V1.1

.

V1.1

2 3 4 51

This file is the property of Kingfisher Group Plc. No copying, alteration or amendment is permitted without
written authorisation from the Kingfisher Brand Team.

V1.1

PROCESS
BLACK

SEPARATIONS JOB INFO

VERSION #

24/07/18
Alphai

03/08/18
Alphai

17/08/18
Stanley

01/0918
NAME

01/09/18
NAME

PLEASE NOTE THAT “SAFETY” AND “ASSEMBLY” 
MANUALS SHALL BE PRINTED SEPARATELY

DO NOT PRINT THIS PAGE -  
IT IS FOR INFORMATION ONLY

PID #:  
Agency Job #: PRJ10274 
Product Description: 
Gazebo

Brand: Blooma 
Brand Contact: Atlus Chu 
Barcode: 3663602419228 
Vendor: Freestyle  
No. of New Line Drawings: 0 
Page Size: A4 / No. of Pages: 16

Artwork done by Impala Services Ltd.
info@impala-tech.com

3663602419228-Blooma-A4-IM-V03.indb   1 17/8/2018   4:33 PM



EAN: 3663602419228/3663602419235

Beloye
V10818

3663602419228-Blooma-A4-IM-V03.indb   2 17/8/2018   4:33 PM



3663602419228-Blooma-A4-IM-V03.indb   3 17/8/2018   4:33 PM



3663602419228-Blooma-A4-IM-V03.indb   4 17/8/2018   4:33 PM

Изготовитель для России: Фристайл Аутдор Ливинг 
Ко., Лтд
Адрес: Сюфэн Вилладж, Гаоцяо Таун, Хайшу Дистрикт, 
Нинбо Сити, Чжэцзян Провинс

Distribuitor:
SC Bricostore România SA Calea Giulesti 1-3,
Sector 6, Bucuresti România
www.bricodepot.ro

Distribuitor:
Praktiker Romania S.A.
Splaiul Independenței, nr 319 L și M, Clădirea Bruxelles,
etaj 1, Sector 6, RO-060044, București, România
Tel: +40 021 204 71 00
www.praktiker.ro



3663602419228-Blooma-A4-IM-V03.indb   5 17/8/2018   4:33 PM



Beloye
EAN: 3663602419228/3663602419235

V10818

3663602419228-Blooma-A4-IM-V03.indb   1 17/8/2018   4:33 PM



x?

1 2

IMPORTANT - Please read 
carefully the separate safety 
guide before use.

IMPORTANT - Lire 
attentivement le guide 
de sécurité séparé avant 
utilisation.

WAŻNE - Przed użyciem 
proszę dokładnie 
zapoznać się z instrukcją  
bezpieczeństwa.

BAЖHO - Пожалуйста, 
внимательно прочитайте 
отдельное руководство 
по технике безопасности 
перед использованием.

IMPORTANT - Vă rugăm 
să citiţi cu atenţie ghidul de 
siguranţă separat înainte de 
utilizare.

IMPORTANTE - Lea 
atentamente la guía de 
seguridad separado antes de 
utilizar.

IMPORTANTE - Leia 
atentamente o guía de 
segurança separado antes 
de usar.

ÖNEMLI - Kullanmadan 
önce emniyet kurallarını 
lütfen dikkatle okuyun.

[01] x 4
(76 x 76 mm)

[02] x 1
(88 x 25 mm)

[03] x 1
(88 x 25 mm)

[04] x 2
(88 x 25 mm)

[05] x 9
(18 x 18 mm)

[06] x 1
(25 x 15 mm)

[07] x 1

3663602419228-Blooma-A4-IM-V03.indb   2 17/8/2018   4:33 PM



01

Assembly Assemblage Montaż
Сборка Asamblare Montaje
Montagem Montaj

[11] x 17
(140 x 19 x 2.5 mm)

[13] x 2
(M6)

[14] x 112
(M6 x 15 mm)

x 4

[01] x 4

[08] x 4

[14] x 8

[23] x 4

[15] x 4
(75 x 75 x 2.5 mm)

[16] x 2
(M6 x 65 mm)

[17] x 17
(M6 x 24 mm)

[18] x 8
(152x 152x 2 mm)

[08] x 4
(135 x 135 x1.2 mm)

[12] x 9
(M6 x 18 mm)

[09] x 1
(13 x 13 x 75 mm)

(140 x 19 mm)

[10] x 1

[19] x 17
(ø14.5 x ø9 x 1.6 mm) [20] x 8 [22] x 2 [23] x 4[21] x 9

2

3663602419228-Blooma-A4-IM-V03.indb   3 17/8/2018   4:33 PM

1

[08] 
[23] 

[01] 

[14] 



4

02

03
 

[05] x 1

[09] x 1

[02] x 1

[10] x 1

[16] x 2

[13] x 2

[05]

[14]

[09]

[14] x 2

[13]

[10]

[16]

[02]

3663602419228-Blooma-A4-IM-V03.indb   4 17/8/2018   4:33 PM



5

[02] x 1

[03] x 1

[11] x 17

[17] x 17

[19] x 17

[04] x 2

04

05
 

[14] x 68

[15] x 4

[18] x 8

[19]

[11]

[17]

[03]

[02]

[04]

[15]

[18]

[14]

1
3

2

[03]

[04]

[02]

[04]

[04]

3663602419228-Blooma-A4-IM-V03.indb   5 17/8/2018   4:33 PM



6

06

07
 

[06] x 1

[07] x 1

[12] x 9

[14]

[05]

[14] x 34

[06]

[07]

[12]

[05] x 9

3663602419228-Blooma-A4-IM-V03.indb   6 17/8/2018   4:33 PM



7

08

[07] x 1

[21] x 9

[21]

[07]

3663602419228-Blooma-A4-IM-V03.indb   7 17/8/2018   4:33 PM



88Care Entretien Pielęgnacja

Уход Îngrijire Advertancia

Aviso Bakım

3663602419228-Blooma-A4-IM-V03.indb   8 17/8/2018   4:33 PM


